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1. A ST

AN

(z+y+1)2={(z+y) +12=(x+y)?+20@+y)+1=2>+2zy+y* + 20+ 2y + 1.
(4y—ALBLTS XN

(2) (z—2y—3)?2={(z—2y) —3}> = (x — 2y)? — 6(x — 2y) + 9 = 2% — day + 4y* — 62 + 12y + 9.
(z—2y=ABVTHLW)

(3) X =(a+3)(a®>-3a+3%) =a®+3>=0a+27. (BRA (a+b)(a® —ab+b?) =a>+?)

(4) 55X = (2a — 1){(2a)? +2a-1+1?) = (2a)® — 13 =8a® — 1. (2R (a —b)(a® + ab + b?) = a® — b3)

7.(1) ER={Q2z+y)+1H{Czr+y)+3} =2z +y)* + 32z +y) + 2x +y) + 3 =42 + doy + y* + 8z + 4y + 3.

2r4+y=AstBVTH IV
2) HRX={(a®>+1)+a}{(@®+1)—al=(a®>+1)2-a®>=a*+2a®>+1—-a®’ =a* +a® + 1.

(@2+1=A2BVTH V)

8. (1) 5& = 2%(4x — 9y). 2) R =ab—c)—(b—c)=(a—1)(b—c).

(3) 5 = (22)% + 3% = (2 + 3) (422 — 62 + 9). 4) 5 =(r+y)?2-22=(x+y+2)(z+y—2).
9. (1) & = (z +2)(z + 3). (2) 5R& = (z — 10)(z + 2).
10. (1) 52& = (32 — 5)(z + 3). (2) 52 = (4z — y)(3z + 2y).

11. (1) 5 ={(42?)? -1} = 422 + 1)(42? - 1) = (42> + 1)(2z + 1)(2z — 1).
2) 5R={(z—y)-5H{@ -y +2t=(x—y—5)z—y+2). (1—y=ALBLTHLW)
(3
(4

12. fRE SR

) BER =024+ 2u+3)r+ (P2 +3y+2) =22+ 2 +3)z+y+Dy+2)=(+y+1(x+y+2).
)

13. 28RN %E A LB EREOFERNLDY A= (22 —1)(32° + 1) — 5 = 622 — 322 + 22 — 6.

14. (1) 551

(2) 22 +2-2=(x+2)(z—1),222 -8 =2(x +2)(z — 2) K VEBEKLHWE x + 2, BUNAER 2(2 + 2) (2 — 1) (z —

(3) a — a®b? = a®(a + b)(a — b),a’ — ab® = a(a — b)(a® + ab + b?) & D EAAKEL a(a — b),

BNAEEE a?(a — b)(a + b)(a® + ab + b?).
4) 22—1=@@+)(z-1),25-1=(x-1)(2*+x+1),22 -2+ 1= (x— 1) KOERARLHE z -1,
AR (2 — 1% (x 4+ 1)(22 + 2 + 1).

/]
15. &SI

ERX =22+ (y+2)2— 22 +5y+3) =2+ (y+2z— 2u+3)y+1)=(x+2y+3)(z—y—1).
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Rl D E
(1) A(2)=8—-10+3=1, (2) A(=3)=—-27+18+9— 6= —6.
(3 A(2)=2+2+1=3 @) A(-5)=-5+3-5+5=3
P(-1)=0,P(-2)=4,P(-3)=0&V z+1 & z+3 THOYNZ.
P(x) =22 =522 —x+ k £ B LIHBGEMRE D P(3) =54 —-45—-3+k=0. £>Tk=—6.
(1) P(x)=a® - Tz —6 L BLE P(-1) =0 &Y P(z) = (z+1)(a2 =2 — 6) = (z + 1)(z + 2)(z — 3).
(2) Plx) =203 +22-8r—4 2B P(2)=0&Y P(x) = (v —2)(222 + 52 +2) = (v — 2)(x +2)(2z + 1).
(3) P(zx) = 102> — 1322 =150 +18 £ < & P(1) =0 & Y P(x) = (z—1)(102% — 3z —18) = (z — 1)(2x — 3)(52 +6).
(4) P(z) =a* —42® 41022 =172 +10 £ B L P(1) =0 £ b P(z) = (z — 1)(z® — 322 + 7Tz — 10).
Qz) =23 -3224+ T2 -10 B2 Q(2) =040 Q(z) = (x — 2)(z? —x +5).
EoTP@)=(x—1)(z—2) (2> -z +5).
CHECK
iR 28
(1) 5% = 9a20°. (2) G2 = 222 + Say — 32
(3) 5 = 422 — 202y + 2512 (4) 53R = a2 — 92,
(5) 5 = a® — 9a?b + 27ab* — 27b3. (6) 5 = (3z —2y)? +2(3z — 2y) + 1
=922 — 122y + 4y% + 62 — 4y + 1.
(7) 5 =2% -27. (8) 53R = (3a+b)2+(3a+b)—2 = 9a%+6ab+b*+3a+b—2.
(1) 5& = (z—3)(z - 9). (2) 5R =a(b+2)+ B2 +b—2) = a(b+2)+ (b+2)(b—1)
=(b+2)(a+b-1).
(3) 53X = 3y(2? — 4¢°) = 3y(z + 2y)(z — 2y). (4) 5 = (a — 2b)(a® + 2ab + 4b?).
(5) 5-R& = (3a — b)(a + Tb). (6) Lk = (42 — y)(z + 3y).
HoEENE ALBLLREDEFERLD A= (22 +2)Bx+ 1) + 22+ 1 =323 + 2% + 8z + 3.

(1) a®b — ab® = ab(a — b),a® — b® = (a — b)(a® + ab + b?) & VWAL a — b, BUNAFE ab(a — b)(a® + ab + b?).

(2) 22422 —15=(z+5)(x —3),202 — bz — 3= (20 + 1)(z — 3),2% — 62+ 9 = (z — 3) & D BALKH « — 3,
BUNAREE (v — 3)%(x + 5) (22 + 1).

(1) P(x) =2% + 1022 —ar +6 2B LFROEIH LY P(—-1)=-1+10+a+6=7 £>Ta=-8.

(2) P(x) = a® +az? — 4z +6 £ 5< LHADEIE D P(2) = P(3). £>T P(2) =8 +4a — 8+ 6 — 4a +6,
P(3)=27T+9—-124+6=9a+21 &Y 4da+6=9a+21. £>Ta=-3.

Pr)=2+22> 50 -6 B P(-1)=0&Y P(x)=(x+1)(2®>+2—-6) = (z+ 1)(x — 2)(x + 3).



